Задачи линейного программирования большой размерности

Симплекс метод

   Исходные данные

      A=[1 2 3 4 5 6 1; 6 5 4 3 2 1 0; 4 6 7 9 1 3 0; 0 2 5 8 0 1 0]

      b=[6; 3; 2; 4]

      c=[1; 2; 1; 0; 1; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     0.063

         x3 =     0.087

         x5 =     1.135

         x10 =     3.563

         x2 = x4 = x6 = x7 = x8 = x9 = 0

      Значение функции:

         -35633.635

Симплекс метод

   Исходные данные

      A=[1 0 0 0 1 0 0 0 -1 0 0 0; 0 1 0 0 0 1 0 0 0 -1 0 0; 0 0 1 0 0 0 1 0 0 0 -1 0; 0 0 0 1 0 0 0 1 0 0 0 -1; 3 3 8 2 0 0 0 0 0 0 0 0]

      b=[20; 5; 12; 4; 100]

      c=[0; 0; 0; 0; -1; -1; -1; -1; -1; -1; -1; -1]

   Результаты работы

      Оптимальная точка:

         x1 =    20.000

         x2 =     5.000

         x3 =     2.125

         x4 =     4.000

         x7 =     9.875

         x5 = x6 = x8 = x9 = x10 = x11 = x12 = x13 = 0

      Значение функции:

            -9.875

Симплекс метод

   Исходные данные

      A=[1 0 0 0 0 1 0 0 0 0 0 -1 0 0 0 0 0 1; 1 1 0 0 0 0 -1 0 0 0 0 0 1 0 0 0 0 0; 0 1 1 0 0 0 0 -1 0 0 0 0 0 1 0 0 0 0; 0 0 1 1 0 0 0 0 -1 0 0 0 0 0 1 0 0 0; 0 0 0 1 1 0 0 0 0 -1 0 0 0 0 0 1 0 0; 0 0 0 0 1 1 0 0 0 0 -1 0 0 0 0 0 1 0]

      b=[20; 50; 80; 100; 40; 30]

      c=[-1; -1; -1; -1; -1; -1; 0; 0; 0; 0; 0; 0; -1000; -1000; -1000; -1000; -1000; -1000]

   Результаты работы

      Оптимальная точка:

         x1 =    20.000

         x2 =    30.000

         x3 =    90.000

         x4 =    10.000

         x5 =    30.000

         x8 =    40.000

         x6 = x7 = x9 = x10 = x11 = x12 = x13 = x14 = x15 = x16 = x17 = x18 = 0

      Значение функции:

          -180.000

Симплекс метод

   Исходные данные

      A=[-4 0 -4 -5 -10 -1 12 1 0 0 0; -1 1 -5 -2 0 -7 10 0 1 0 0; -4 6 -1 -3 -2 -1 10 0 0 1 0; 1 -1 1 1 1 1 0 0 0 0 1]

      b=[0; 0; 0; 12]

      c=[0; 0; 0; 0; 0; 0; 1; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     5.290

         x4 =     3.484

         x6 =     3.226

         x7 =     3.484

         x2 = x3 = x5 = x8 = x9 = x10 = x11 = 0

      Значение функции:

             3.484

Симплекс метод

   Исходные данные

      A=[4 -4 -4 -5 -10 -1 12 1 0 0 0; 1 1 -5 -2 0 -7 10 0 1 0 0; 4 6 -1 -3 -2 -1 10 0 0 1 0; -1 -1 1 1 1 1 0 0 0 0 1]

      b=[0; 0; 0; 12]

      c=[0; 0; 0; 0; 0; 0; 1; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x4 =    10.286

         x6 =     1.714

         x7 =     3.257

         x8 =    14.057

         x1 = x2 = x3 = x5 = x9 = x10 = x11 = 0

      Значение функции:

             3.257

Симплекс метод

   Исходные данные

      A=[-3 2 1 0 0 0; 1 1 0 -4 1 0; 1 0 0 0 0 1; 0 1 0 0 0 0]

      b=[6; 3; 3; 5]

      c=[2; 2; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     3.000

         x2 =     5.000

         x3 =     5.000

         x4 =     1.250

         x5 = x6 = x7 = 0

      Значение функции:

            16.000

Симплекс метод

   Исходные данные

      A=[-3 2 1 0 0 0; 1 1 0 -4 1 0; 1 0 0 0 0 1; 0 1 0 0 0 0]

      b=[6; 3; 3; 5]

      c=[-2; -2; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     1.333

         x2 =     5.000

         x4 =     0.833

         x6 =     1.667

         x3 = x5 = x7 = 0

      Значение функции:

           -12.667

Симплекс метод

   Исходные данные

      A=[1 1 1 0 0 0 0; 3 7 0 -1 1 0 0; 1 2 0 0 0 -1 1; 1 0 0 0 0 0 0; 0 1 0 0 0 0 0]

      b=[8; 21; 6; 1; 7]

      c=[3; 3; 0; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     1.000

         x2 =     7.000

         x4 =    31.000

         x6 =     9.000

         x3 = x5 = x7 = x8 = x9 = 0

      Значение функции:

            24.000

Симплекс метод

   Исходные данные

      A=[1 1 1 0 0 0 0; 3 7 0 -1 1 0 0; 1 2 0 0 0 -1 1; 1 0 0 0 0 0 0; 0 1 0 0 0 0 0]

      b=[8; 21; 6; 1; 7]

      c=[-3; -3; 0; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     1.000

         x2 =     7.000

         x4 =    31.000

         x6 =     9.000

         x3 = x5 = x7 = x8 = x9 = 0

      Значение функции:

           -24.000

Симплекс метод

   Исходные данные

      A=[1 2 -1 1 0 0; 2 4 0 0 1 0; 3 1 0 0 0 -1; 1 3 0 0 0 0]

      b=[5; 16; 6; 9]

      c=[3; 1; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     6.000

         x2 =     1.000

         x3 =     3.000

         x6 =    13.000

         x4 = x5 = x7 = x8 = 0

      Значение функции:

            19.000

Симплекс метод

   Исходные данные

      A=[1 2 -1 1 0 0; 2 4 0 0 1 0; 3 1 0 0 0 -1; 1 3 0 0 0 0]

      b=[5; 16; 6; 9]

      c=[-3; -1; 0; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     1.125

         x2 =     2.625

         x3 =     1.375

         x5 =     3.250

         x4 = x6 = x7 = x8 = 0

      Значение функции:

            -6.000

Симплекс метод

   Исходные данные

      A=[1 2 1 -1 1; 2 1 0 0 0; 1 2 0 0 0; 0 0 1 1 0; 0 0 -2 3 0]

      b=[10; 4; 6; 5; 6]

      c=[-1; -1; -2; -1; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     0.667

         x2 =     2.667

         x3 =     1.800

         x4 =     3.200

         x5 =     5.400

         x6 = x7 = x8 = x9 = 0

      Значение функции:

           -10.133

Симплекс метод

   Исходные данные

      A=[4 4 -1 0 -1 0 0; 2 -2 0 -1 -1 0 0; 1 0 0 0 0 1 0; 0 1 0 0 0 0 1]

      b=[8; 0; 2; 2]

      c=[0; 0; 0; 0; 1; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     2.000

         x2 =     0.667

         x5 =     2.667

         x7 =     1.333

         x3 = x4 = x6 = x8 = x9 = 0

      Значение функции:

             2.667

Симплекс метод

   Исходные данные

      A=[2 0 0 -1 -1 0 1 0 0; 0 -2 1 0 1 0 0 -1 0; 1 0 0 0 0 1 0 0 0; 0 1 0 0 0 0 0 0 1]

      b=[2; 2; 2; 2]

      c=[0; 0; 0; 0; 1; -30000; -10000; -10000; -10000]

   Результаты работы

      Оптимальная точка:

         x1 =     2.000

         x2 =     2.000

         x3 =     4.000

         x5 =     2.000

         x4 = x6 = x7 = x8 = x9 = 0

      Значение функции:

             2.000

Симплекс метод

   Исходные данные

      A=[0.084 4 -1 0 -1 0 1 0 0; 4.733 2 0 1 1 0 0 1 0; 1 0 0 0 0 1 0 0 0; 0 1 0 0 0 0 0 0 1]

      b=[4.084; 6.733; 2; 2]

      c=[0; 0; 0; 0; 1; -30000; 0; 0; 0]

   Результаты работы

      Оптимальная точка:

         x1 =     1.423

         x6 =     0.577

         x7 =     3.965

         x9 =     2.000

         x2 = x3 = x4 = x5 = x8 = 0

      Значение функции:

         -17323.051

